DOI: 10.15608/iccc.y2016.554

COST AND BENEFIT ANALYSIS OF ESTABLISHED MARINE CONSERVATION

EVI GRAVITIANI¹, B. ROSALINA E. W. K.^{1*}, and AGUSTYARUM P. B.¹

¹Department of Economics, Universtas Sebelas Maret, Surakarta -Indonesia

ABSTRACT

Climate change, which is happening now and has affected the level of ecosystems and populations of Marine Biodiversity. The influence will continue to remember the fishermen on the beach also took the fish with the principle of harvest without planting. This study aims at determining the analysis of the maintenance and preservation of biodiversity in the ocean. This research was conducted in the marine around Lamongan, Indonesia. The analysis technique used is the qualitative analysis carried out to determine the characteristics of Lamongan and quantitative analysis conducted to determine the costs and benefits of the analysis of costs and benefits of the implementation of the Bureau of Marine Biodiversity Conservation. The results of the analysis of costs and benefits received from the operation of the Bureau of Marine Biodiversity Conservation outweigh the costs, shown by Benefit Cost Analysis>1, it means that policy is feasible. Such benefits include the maintenance and preservation of the benefits that are expected to be a solution to the scarcity of damage and biodiversity in oceans surrounding Lamongan, Indonesia.

Keywords: Cost Benefit Analysis, Bureau of Marine Biodiversity Conservation, Maintenance, Preservation

1 INTRODUCTION

Indonesia is one of the countries that have more than 70% area in water. That makes many people have desire to explore diversity of marine, because Indonesia hasa lot of diverse fish, seaweed, coral reefs, etc. Many fisherman explore marine diversity greedily, they do not aware that they "more harvest" without "planting" even replant. This resulted, if later than years ago we can look for fish just from the shoreline, but now we must explore out to sea.Base from the Fishery data, explain East Java have the largest fish production, especially Lamongan district, there are 70,150 ton/year.

Government need an institution like a bureau to organize biodiversity of marine conversation so that our marine can be sustainable. This bureau can implement policies like picking up some money to fisherman who catch fish more than 1 (one) ton as Rp. 100,000,-. This policy is expected, fisherman have responsibility for establish fish in the marine and government have budgets to organize conservation of marine.

^{*} Corresponding author and Presenter: Email:

2 LITERATURE REVIEW

2.1 Theory of Climate Change

Climate change proposed by Tjasyono (2004) that climate change is likely to have a tendency that can be caused by two factors. The first factor is the human activity such as urbanization, deforestation and industrialization. The second factor is due to the nature activities such as shifting continental, volcanic eruptions, changes in the Earth's orbit of the sun, and the sun stains the El-Nino events. Uncontrolled human activities will increasingly lead to irregularities in the climate system, if it cannot be controlled impact can threaten human life.

2.2 Theory of Environmental Management

The environmental crisis arising from the impact of human activities, the environmental management is the responsibility of man. Three efforts have to run balanced by man's attempt technology, behavior or attitude efforts and efforts to understand and accept the natural correction that occurs due to the impact of the interaction of humans and the environment according to Soeradji (1988). Clearly theory by Soeradji environmental management mentions that efforts tend to perform maintenance actions and the preservation or conservation of natural resources. By the law of conservation goals set forth in the Law of the Republic of Indonesia No. 5 of 1990 on Conservation of natural resources as well as the balance of its ecosystem so that it can better support efforts to improve the welfare of society and the quality of human life.

2.3 Conservation theory

Conservation was born as a result of a need to preserve natural resources that are known to be sharply degraded in quality. In general conservation and or preservation means that conserve / preserve carrying capacity, quality, functions, and capabilities in a balanced environment (MPL 2010; Grace 2008). Indonesia has 73% water with a huge ecosystem, so that conservation measures should be made considering the human activities will continue. Conservation through marine conservation bureau was established on the basis of active community action to help preserve and marine conservation fund itself.

3 METHODOLOGY

3.1 Research Scope

This was an application of benefit cost method to reveal the establishment of bureau use values to biodiversity the marine conservation. This study used descriptive research methods and statistics.

3.2 Data type

Data used in this study are secondary data. The data obtained from Office of the Central Bureau of Statistics (BPS) and the Office website of East Java and Lamongan district.

3.3 Method

We performed a cost-benefit method to analyze the implementation of the Bureau of Marine Biodiversity Conservation. Financial data obtained by estimating the costs include the cost of establishing the bureau, the operational costs of personnel, non-personnel operating costs, annual maintenance cost and maintenance costs of marine conservation. The primary outcome measure was the net financial benefit or cost the Bureau of Marine Biodiversity Conservation for a 5-year period.

Cost-Benefit Analysis Methods used includes:

3.3.1 Net Present Value (NPV)

NPV is the net benefit that has been discounted using the Social Opportunity Cost of Capital (SOCC) as the discount factor.

$$NPV = \sum_{i=1}^{n} NB_{i} (1+i)^{-n}$$

$$Or$$

$$NPV = \sum_{i=1}^{n} \frac{NB_{i}}{(1+i)^{n}}$$

$$Or$$

$$NPV = \sum_{i=1}^{n} \overline{B_{i}} - \overline{C_{i}} = \sum_{i=1}^{n} N\overline{B_{i}}$$

$$(2)$$

$$Or$$

$$(3)$$

Where:

where.	
NB	= Net benefit = Benefit - Cost
С	= Investment cost + Operating costs = Benefit that has been discounted= Cost that has been
	discounted
i	= Discount Factor
n	= year (time)

Criteria:

NPV> 0 (zero) \rightarrow business/project is feasible

NPV <0 (zero) \rightarrow business/project is not feasible

NPV = 0 (zero)
$$\rightarrow$$
 business/project in a state where the BEP TR = TC

in the form of present value.

To calculate the required data on the estimated NPV of investment costs, operating costs, and maintenance as well as the estimated benefits of the planned project.

3.3.2 Internal Rate of Return (IRR)

IRR is a discount rate that results in NPV = 0 (zero).

If IRR> SOCC so the project is feasible

IRR = SOCC means the project on BEP

IRR <SOCC said that the project is not feasible.

To determine the value of IRR should be calculated first NPV1 and NPV2 by trial and error. If discount factor of NPV1 positive so the second must be greater than SOCC, and otherwise.

From these experiment, it is, explained the IRR value is between positive NPV and negative NPV, so there is the NPV = 0.

$$IRR = i_1 + \frac{NPV_1}{(NPV_1 - NPV_2)} (i_2 - i_1)$$
(4)

Where: i_1 = discount rate that produces NPV1 i_2 = discount rate that produces NPV2

3.3.3 Net Benefit Cost Ratio (Net B/C)

Net B/C is the ratio between the discounted net benefit is positive (+) with a net negative benefits, which has been discounted.

$$NetB / C = \frac{\sum_{i=1}^{n} N\overline{B_i}(+)}{\sum_{i=1}^{n} N\overline{B_i}(-)}$$
(5)

If: Net B / C > 1 (one) means the project (business) feasible

Net B / C <1 (one) means the project is not feasible

Net B / C = 1 (one) means cash inflows = cash outflows(BEP) or TR = TC

3.3.4 Pay Back Period (PBP)

PBP is a specific period of time indicating the occurrence of flows (cash inflows) are cumulatively equal to the amount of investment in the form of present value. PBP is used to determine how long the project can recover the investment.

$$PBP = T_{p-1} + \frac{\sum_{i=1}^{n} \overline{I_i} - \sum_{i=1}^{n} \overline{B_{icp-1}}}{\overline{B_p}}$$
 (6)

Where:	
PBP	= Pay Back Period
Tp-1	= The year before PBP
Ii	= investment amount has been discounted
Bicp-1	= Number of benefits that have been discounted before PBP
Вр	= Number of benefit to the PBP

4 EMPIRIC RESULT

4.1 Economical approach

This approach discusses the calculation of investment costs and estimation, including:

- a. This analysis includes only the cost factor and the benefits that can be expressed in money
- b. The discount rate is set at 12%, the loan interest rate in effect on government investment projects
- c. The project is expected 3 years for economic age

Investment cost is the first cost which be taken out for maintaining Bureau of Marine Biodiversity Conservation.

No	Activity	Unit	Amount	Unit Price	Cost	Information
				FIRST YEAR		
1	Establish Bureau Cost	Unit	1	15,000,000	100,000,000	
2	Renting Place Cost	Unit	1	25,000,000	25,000,000	
3	Head Personnel Cost	Person	1	5,000,000	60,000,000	
4	Personnel Cost	Person	4	3,000,000	144,000,000	
5	Non Personnel Cost	Unit		-	100,000,000	Total Value of Inventory Purchases
6	Marine Conservation	Unit	95,000	70,000	6,650,000,000	
		TOTAL			7,079,000,000	
			SI	ECOND YEAR		
1	Renting Place Cost	Unit	1	25,000,000	25,000,000	
2	Personnel Cost	Person	5		204,000,000	
3	Maintanance of Inventory	Month	12	1,000,000	12,000,000	Maintainance and Purchase of Stock Every Month for a Year
4	Marine Conservation	Unit	95,000	70,000	6,650,000,000	
	ТО	TAL			6,891,000,000	
			TH	HIRD SECOND		
1	Renting Place Cost	Unit	1	25,000,000	25,000,000	
2	Personnel Cost	Person	5		204,000,000	
3	Maintanance of Inventory	Month	12	1,000,000	12,000,000	Maintainance and Purchase of Stock Every Month for a Year
4	Marine Conservation	Unit	95,000	70,000	6,650,000,000	
	TOTA	L COST			6,891,000,000	

Table 1. Cost of maintaining marine biodiversity conservatiom Berau

Benefit Estimation is the benefits that can be expressed in money, there are one-hundred thousand rupiah (Rp 100,000,-) per ton of fisherman trawling.

Table 2. Denent of maintaining marme blourversity conservation berau						
Benefit	Information	Detailed	Total			
Fee Income	Fisherman Catch Each 1 Ton	Every 1 Ton Fishing Charged Rp 100,000,-	Rp 7,000,000,000.00			
	TOTAL BENEFIT		Rp 7,000,000,000.00			

Tabla 2	Ronofit of	maintaining	morino l	hindivorcity	conservation	Roran
I abic 2.	Denemi or	mannaming	, mai me i	DIDULY CL SILY	conservation	DELAL

4.2 Evaluation Project

4.2.1 Net Present Value (NPV)

Table 3. Net present value (NPV) of maintaining marine biodiversity conservatiom

			Berau			
YEARS	BENEFIT	COST	B/C	NB	DF (12%)	NPV (12%)
Y1	7,000,000,000	7,079,000,000	0.99	(79,000,000)	0.892	(70,468,000)
Y2	7,000,000,000	6,891,000,000	1.02	109,000,000	0.797	86,873,000
Y3	7,000,000,000	6,891,000,000	1.02	109,000,000	0.712	77,608,000
TOTAL	21,000,000,000	20,861,000,000	1.01			94.013,000

The result value of NPV showing that NPV > 1, so this indicated Bureau Marine Biodiversity Conservation is feasible.

4.2.2 Internal Rate of Return (IRR)

Table 4. Internal rate of return (IRR) of maintaining marine biodiversity conservatiom Berau

	conservation Defau								
YEARS	BENEFIT	COST	B/C	NB	NPV (12%)	NPV (13%)	IRR		
Y1	7,000,000,000	7,079,000,000	0.99	(79,000,000)	(70,468,000)	(69,915,000)	12.502		
Y2	7,000,000,000	6,891,000,000	1.02	109,000,000	86,873,000	85,347,000	12.504		
¥3	7,000,000,000	6,891,000,000	1.02	109,000,000	77,608,000	75,537,000	12.507		
TOTAL	21,000,000,000	20,861,000,000	1.01		94,013,000	90,969,000	12.508		

This analisis uses discount factor level 12% and 13%, so we can see the result of IRR = 12.508 explained IRR is bigger than social discount rate (12%). That means Bureau in Marine Biodiversity Conservation is feasible.

4.2.3 Net Benefit Cost Ratio (Net B/C)

We can find Net Benefit Cost Ratio (Net B/C) from divide NPV1 (discount factor 12%) with NPV2 (discount factor 13%)

Table 5. Net benefit cost ratio (Net B/C) of maintaining marine biodiversity conservatiom Berau

	conservation Derud					
NPV (12%)	NPV (13%)	BCR				
(70,468,000)	(69,915,000)	1.008				
86,873,000	85,347,000	1.018				
77,608,000	75,537,000	1.027				
94,013,000	90,969,000	1.033				

The result of Net Benefit Cost Ratio (Net B/C) is 1.033, so Net B/C more than 1, so that explain Bureau Marine Biodiversity Conservation is feasible.

4.2.4 Pay Back Period (PBP)

Table 6. pay back period (PBP) of maintaining marine biodiversity conservatiom

	Berau						
YEARS	BENEFIT	COST	NB	NPV (12%)	PBP		
Y1	7,000,000,000	7,079,000,000	(79,000,000)	(70,468,000)	(70,468,000)		
Y2	7,000,000,000	6,891,000,000	109,000,000	86,873,000	16,405,000		
Y3	7,000,000,000	6,891,000,000	109,000,000	77,608,000	94,013,000		

Base on the analysis, the calculation of NPV reduction sequentially indicates that PBP was paid during the period of 3 years, it means that the Bureau in Marine Biodiversity Conservation is feasible.

5 CONCLUSION

- a. The results of the analysis of the Net Present Value (NPV) indicate that the NPV = 94.013 million. It shows NPV> 1, so the Bureau in Marine Biodiversity Conservation is feasible.
- b. The results of the analysis of the Internal Rate of Return (IRR) indicate that the IRR = 12,508 explained IRR is bigger than sosial discount rate (12%), so Bureau Marine Biodiversity Conservation is feasible.
- c. The results of the analysis of the Net Benefit Cost Ratio (Net B/C) indicate that the Net B/C more than 1, so Bureau Marine Biodiversity Conservation is feasible.
- d. The results of the analysis of the Pay Back Period (PBP) indicate that the PBP was paid during the period of 3 years, it means Bureau Marine Biodiversity Conservation is feasible.

6 POLICY IMPLICATION

Bureau Marine Biodiversity Conservation must be organized to support the preservation of the diversity of fish in the sea.

REFERENCES

- Anonymous. 1998. Preparation of Coastal Resource Management Concepts and oceans Rooted in the Community. Directorate General for Development Cooperation Regional Department of the Interior by the Center for Resource Coastal and Marine IPB. Bogor
- Dahuri, R., Rais, DJ., Ginting, S.P., Sitepu, M.J. 1996. Management of Coastal Resources and Marine Integrated. Jakarta: PT. PradnyaParamita

Framework Convention on Climate Change (FCCC), New York, 9 May 1992, 31 ILM 849 (1992).

Gravitiani, Evi .2015 .Adaptation Strategy on Urban Air Quality, Case Study: Semarang Urban Area, Indonesia. Advances in Economics and Business 3(2): 57-61, 2015

Koesnadi, Hardjasoemantri. 2006. Environment The Constitutional Law. Gadjah Mada University Press. Yogyakarta

Law Number 17 Year 2007 on Term Development PlanNational Long 2005-2025

Law No. 32 of 2009 on the Protection and Management of the environment

Marine and Fisheries Agency of East Java Province. 2013. Executive Summary: Handling Assessment Shoreline in the northern coast of East Java. Semarang: Department of Marine and Fisheries, East Java Province

Smit et al. Climate Change Responses (2016) 3:9

Soemarwoto, Otto. 1994. Ecology, Environment and Development, Djambatan, Jakarta.

Tjasyono, B., 2004. Climatology. Publisher : ITB. Bandung

Cost and Benefit Analysis Of Established Marine Conservation

by Evi Gravitiani

Submission date: 16-Oct-2020 05:46AM (UTC+0700) Submission ID: 1416478783 File name: COST_AND_BENEFIT_ANALYSIS_OF_ESTABLISHED_MARINE_CONSERVATION.pdf (222.11K) Word count: 2601 Character count: 13205 DOI: 10.15608/iccc.y2016.554

COST AND BENEFIT ANALYSIS OF ESTABLISHED MARINE CONSERVATION

EVI GRAVITIANI¹, B. ROSALINA E. W. K.^{1*}, and AGUSTYARUM P. B.¹

¹Department of Economics, Universtas Sebelas Maret, Surakarta -Indonesia

ABSTRACT

Climate change, which is happening now and has affected the level of ecosystems and populations of Marine Biodiversity. The influence will continue to remember the fishermen on the beach also took the fish with the principle of harvest without planting. This study aims at determining the analysis of the maintenance and preservation of biodiversity in the ocean. This research was conducted in the marine around Lamongan, Indonesia. The analysis technique used is the qualitative analysis carried out to determine the characteristics of Lamongan and quantitative analysis conducted to determine the costs and benefits of the analysis of costs and benefits of the implementation of the Bureau of Marine Biodiversity Conservation. The results of the analysis of costs and benefits received from the operation of the Bureau of Marine Biodiversity Conservation outweigh the costs, shown by Benefit Cost Analysis>1, it means that policy is feasible. Such benefits include the maintenance and preservation of the benefits that are expected to be a solution to the scarcity of damage and biodiversity in oceans surrounding Lamongan, Indonesia.

Keywords: Cost Benefit Analysis, Bureau of Marine Biodiversity Conservation, Maintenance, Preservation

1 INTRODUCTION

Indonesia is one of the countries that have more than 70% area in water. That makes many people have desire to explore diversity of marine, because Indonesia has lot of diverse fish, seaweed, coral reefs, etc. Many fisherman explore marine diversity greedily, they do not aware that they "more harvest" without "planting" even replant. This resulted, if later than years ago we can look for fish just from the shoreline, but now we must explore out to sea.Base from the Fishery data, explain East Java have the largest fish production, especially Lamongan district, there are 70,150 ton/year.

Government need an institution like a bureau to organize biodiversity of marine conversation so that our marine can be sustainable. This bureau can implement policies like picking up some money to fisherman who catch fish more than 1 (one) ton as Rp. 100,000,-. This policy is expected, fisherman have responsibility for establish fish in the marine and government have budgets to organize conservation of marine.

^{*} Corresponding author and Presenter: Email:

PROCEEDING of International Conference on Climate Change 2016

2 LITERATURE REVIEW

2.1 Theory of Climate Change

Climate change proposed by Tjasyono (2004) that climate change is likely to have a tendency that can be caused by two factors. The first factor is the human activity such as urbanization, deforestation and industrialization. The second factor is due to the nature activities such as shifting continental, volcanic eruptions, changes in the Earth's orbit of the sun, and the sun stains the El-Nino events. Uncontrolled human activities will increasingly lead to irregularities in the climate system, if it cannot be controlled impact can threaten human life.

2.2 Theory of Environmental Management

The environmental crisis arising from the impact of human activities, the environmental management is the responsibility of man. Three efforts have to run balanced by man's attempt technology, behavior or attitude efforts and efforts to understand and accept the natural correction that occurs due to the impact of the interaction of humans and the environment according to Soeradji (1988). Clearly theory by Soeradji environmental management mentions that efforts tend to perform maintenance actions and the preservation or conservation of natural resources. By the law of conservation goals set forth in the Law of the Republic of Indonesia No. 5 of 1990 on Conservation of natural resources as well as the balance of its ecosystem so that it can better support efforts to improve the welfare of society and the quality of human life.

2.3 Conservation theory

Conservation was born as a result of a need to preserve natural resources that are known to be sharply degraded in quality. In general conservation and or preservation means that conserve / preserve carrying capacity, quality, functions, and capabilities in a balanced environment (MPL 2010; Grace 2008). Indonesia has 73% water with a huge ecosystem, so that conservation measures should be made considering the human activities will continue. Conservation through marine conservation bureau was established on the basis of active community action to help preserve and marine conservation fund itself.

3 METHODOLOGY

3.1 Research Scope

This was an application of benefit cost method the establishment of bureau use values to biodiversity the marine conservation. This study used descriptive research methods and statistics.

3.2 Data type

Data used in this study are secondary data. The data obtained from Office of the Central Bureau of Statistics (BPS) and the Office website of East Java and Lamongan district.

3.3 Method

We performed a cost-benefit method to analyze the implementation of the Bureau of Marine Biodiversity Conservation. Financial data obtained by estimating the costs include the cost of establishing the bureau, the operational costs of personnel, non-personnel operating costs, annual maintenance cost and maintenance costs of marine conservation. The primary outcome measure was the net financial benefit or cost the Bureau of Marine Biodiversity Conservation for a 5-year period.

Cost-Benefit Analysis Methods used includes:

3.3.1 Net Present Value (NPV)

NPV is the net benefit that has been discounted using the Social Opportunity Cost of Capital (SOCC) as the discount factor.

${}^{4}_{NPV} = \sum_{i=1}^{n} NB_{i} (1+i)^{-n} \qquad (1$)
Or	
$NPV = \sum_{i=1}^{n} \frac{NB_i}{(1+i)^n} $ (2)	!)
Or	
$NPV = \sum_{i=1}^{n} \overline{B_i} - \overline{C_i} = \sum_{i=1}^{n} N\overline{B_i} $ (3)	
Where:	
NB = Net benefit = Benefit - Cost	
C = Investment cost + Operating costs = Benefit that has been discounted= Cost that has been	en
discounted	
1 = Discount Factor	
Criteria:	
NPV> 0 (zero) \rightarrow business/project is feasible	
NPV < 0 (zero) \rightarrow business/project is not feasible	
$\overline{NPV} = 0$ (zero) \rightarrow business/project in a state where the BEP TR = TC	
in the form of present value.	

PROCEEDING

7

of International Conference on Climate Change 2016

To calculate the required data on the estimated NPV of investment costs, operating costs, and maintenance as well as the estimated benefits of the planned project.

3.3.2 Internal Rate of Return (IRR)

IRR is a discount rate that results in NPV = 0 (zero).

If IRR> SOCC so the project is feasible

 \overline{IRR} = SOCC means the project on BEP

IRR <SOCC said that the project is not feasible.

To determine the value of IRR should be calculated first NPV1 and NPV2 by trial and error. If discount factor of NPV1 is positive so the second must be greater than SOCC, and otherwise.

From these experiment, it is, explained the IRR value is between positive NPV and negative NPV, so there is the NPV = 0.

$$IRR = i_1 + \frac{NPV_1}{(NPV_1 - NPV_2)} (i_2 - i_1)$$
 (4)

Where: i₁ = discount rate that produces NPV1 i₂ = discount rate that produces NPV2

3.3.3 Net Benefit Cost Ratio (Net B/C)

Net B/C is the ratio between the discounted net benefit is positive (+) with a net negative benefits, which has been discounted.

$$NetB / C = \frac{\sum_{i=1}^{n} NB_i(+)}{\sum_{i=1}^{n} \frac{24}{NB_i(-)}}$$
....(5)

If: Net B / C > 1 (one) means the project (business) feasible

Net B / C <1 (one) means the project is not feasible

Net B / C = 1 (one) means cash inflows = cash outflows(BEP) or TR = TC

3.3.4 Pay Back Period (PBP)

PBP is a specific period of time indicating the occurrence of flows (cash inflows) are cumulatively gqual to the amount of investment in the form of present value. PBP is used to determine how long the project can recover the investment.

$$PBP = T_{p-1} + \frac{\sum_{i=1}^{n} \overline{I_i} - \sum_{i=1}^{n} \overline{B_{icp-1}}}{\overline{B_p}}$$
(6)

PROCEEDING of International Conference on Climate Change 2016

Where:	
PBP	= Pay Back Period
Tp-1	= The year before PBP
Ii	= investment amount has been discounted
Bicp-1	= Number of benefits that have been discounted before PBP
Вр	= Number of benefit to the PBP

4 EMPIRIC RESULT

4.1 Economical approach

This approach discusses the calculation of investment costs and estimation, including:

- a. This analysis includes only the cost factor and the benefits that can be expressed in money
- b. The discount rate is set at 12%, the loan interest rate in effect on government investment projects
- c. The project is expected 3 years for economic age

Investment cost is the first cost which be taken out for maintaining Bureau of Marine Biodiversity Conservation.

No	Activity	Unit	Amount	Unit Price	Cost	Information
			l	FIRST YEAR		
1	Establish Bureau Cost	Unit	1	15,000,000	100,000,000	
2	Renting Place Cost	Unit	1	25,000,000	25,000,000	
3	Head Personnel Cost	Person	1	5,000,000	60,000,000	
4	Personnel Cost	Person	4	3,000,000	144,000,000	
5	Non Personnel Cost	Unit		-	100,000,000	Total Value of Inventory Purchases
6	Marine Conservation	Unit	95,000	70,000	6,650,000,000	
		TOTAL			7,079,000,000	
			SI	ECOND YEAR		
1	Renting Place Cost	Unit	1	25,000,000	25,000,000	
2	Personnel Cost	Person	5		204,000,000	
3	Maintanance of Inventory	Month	12	1,000,000	12,000,000	Maintainance and Purchase of Stock Every Month for a Year
4	Marine Conservation	Unit	95,000	70,000	6,650,000,000	
	то	TAL			6,891,000,000	
			Tł	HRD SECOND		
1	Renting Place Cost	Unit	1	25,000,000	25,000,000	
2	Personnel Cost	Person	5		204,000,000	
3	Maintanance of Inventory	Month	12	1,000,000	12,000,000	Maintainance and Purchase of Stock Every Month for a Year
4	Marine Conservation	Unit	95,000	70,000	6,650,000,000	
	ΤΟΤΑ	L COST			6,891,000,000	

 Table 1. Cost of maintaining marine biodiversity conservatiom Berau

PROCEEDING

of International Conference on Climate Change 2016

Benefit Estimation is the benefits that can be expressed in money, there are one-hundred thousand rupiah (Rp 100,000,-) per ton of fisherman trawling.

Table 2. Benefit of maintaining marine biodiversity conservatiom Berau

Benefit	Information	Detailed		Total
Fee Income	Fisherman Catch Each 1 Ton	Every 1 Ton Fishing Charged Rp 100,000,-	Rp	7,000,000,000.00
	TOTAL BENEFIT		Rp	7,000,000,000.00

4.2 Evaluation Project

22

4.2.1 Net Present Value (NPV)

Table 3. Net present value (NPV) of maintaining marine biodiversity conservatiom

Berau	
-------	--

YEARS	BENEFIT	COST	B/C	NB	DF (12%)	NPV (12%)
Y1	7,000,000,000	7,079,000,000	0.99	(79,000,000)	0.892	(70,468,000)
Y2	7,000,000,000	6,891,000,000	1.02	109,000,000	0.797	86,873,000
¥3	7,000,000,000	6,891,000,000	1.02	109,000,000	0.712	77,608,000
TOTAL	21,000,000,000	20,861,000,000	1.01			94.013,000

The result value of NPV showing that NPV > 1, so this indicated Bureau Marine Biodiversity Conservation is feasible.

18 4.2.2 Internal Rate of Return (IRR)

Table 4. Internal rate of return (IRR) of maintaining marine biodiversity conservatiom Berau

YEARS	BENEFIT	COST	B/C	NB	NPV (12%)	NPV (13%)	IRR
Y1	7,000,000,000	7,079,000,000	0.99	(79,000,000)	(70,468,000)	(69,915,000)	12.502
Y2	7,000,000,000	6,891,000,000	1.02	109,000,000	86,873,000	85,347,000	12.504
¥3	7,000,000,000	6,891,000,000	1.02	109,000,000	77,608,000	75,537,000	12.507
TOTAL	21,000,000,000	20,861,000,000	1.01		94,013,000	90,969,000	12.508

This analisis uses discount factor level 12% and 13%, so we can see the result of IRR = 12.508 explained IRR is bigger than social discount rate (12%). That means Bureau in Marine Biodiversity Conservation is feasible.

4.2.3 Net Benefit Cost Ratio (Net B/C)

14

We can find Net Benefit Cost Ratio (Net B/C) from divide NPV1 (discount factor 12%) with NPV2 (discount factor 13%)

Table 5. Net benefit cost ratio (Net B/C) of maintaining marine biodiversity conservatiom Berau

NPV (12%)	NPV (13%)	BCR
(70,468,000)	(69,915,000)	1.008
86,873,000	85,347,000	1.018
77,608,000	75,537,000	1.027
94,013,000	90,969,000	1.033

The result of Net Benefit Cost Ratio (Net B/C) is 1.033, so Net B/C more than 1, so that explain Bureau Marine Biodiversity Conservation is feasible.

4.2.4 Pay Back Period (PBP)

Table 6. pay back period (PBP) of maintaining marine biodiversity conservatiom

		1	Berau		
YEARS	BENEFIT	COST	NB	NPV (12%)	PBP
Y1	7,000,000,000	7,079,000,000	(79,000,000)	(70,468,000)	(70,468,000)
Y2	7,000,000,000	6,891,000,000	109,000,000	86,873,000	16,405,000
Y3	7,000,000,000	6,891,000,000	109,000,000	77,608,000	94,013,000

Base on the analysis, the calculation of NPV reduction sequentially indicates that PBP was paid during the period of 3 years, it means that the Bureau in Marine Biodiversity Conservation is feasible.

5 CONCLUSION

- a. The results of the analysis of the Net Present Value (NPV) indicate that the NPV = 94.013 million. It shows NPV> 1, so the Bureau in Marine Biodiversity Conservation is feasible.
- b. The results of the analysis of the Internal Rate of Return (IRR) indicate that the IRR = 12,508 explained IRR is bigger than sosial discount rate (12%), so Bureau Marine Biodiversity Conservation is feasible.
- c. The results of the analysis of the Net Benefit Cost Ratio (Net B/C) indicate that the Net B/C more than 1, so Bureau Marine Biodiversity Conservation is feasible.
- d. The results of the analysis of the Pay Back Period (PBP) indicate that the PBP was paid during the period of 3 years, it means Bureau Marine Biodiversity Conservation is feasible.

6 POLICY IMPLICATION

Bureau Marine Biodiversity Conservation must be organized to support the preservation of the diversity of fish in the sea.

REFERENCES

Anonymous. 1998. Preparation of Coastal Resource Management Concepts and oceans Rooted in the Community. Directorate General for Development 15 peration Regional Department of the Interior by the Center for Resource Coastal and Marine IPB. Bogor

Dahuri, R., Rais, DJ., Ginting, S.P., Sitepu, M.J. 1996. Management of Coastal Resources and Marine Integrated. Jakarta: PT. PradnyaParamita

Framework Convention on Climate Change (FCCC), New York, 9 May 1992, 31 ILM 849 (1992).

Gravitiani, Evi 2015 .Adaptation Strategy on Urban Air Quality, Case Study: Semarang Urban Area, Indonesia. Advances in Economics and Business 3(2): 57-61, 2015

PROCEEDING of International Conference on Climate Change 2016

Koesnadi, Hardjasoemantri. 2006. Environment The Constitutional Law. Gadjah Mada University Press. Yogyakarta

Law Number 17 Year 2007 on Term Development PlanNational Long 2005-2025

Law No. 32 of 2009 on the Protection and Management of the environment

Marine and Fisheries Agency of East Java Province. 2013. Executive Summary: Handling Assessment Shoreline in the northern coast of East Java. Semarang: Department of Marine and Fisheries, East Java Province

Smit et al. Climate Change Responses (2016) 3:9

Soemarwoto, Otto. 1994. Ecology, Environment and Development, Djambatan, Jakarta.

Tjasyono, B., 2004. Climatology. Publisher : ITB. Bandung

Cost and Benefit Analysis Of Established Marine Conservation

ORIGIN	ALITY REPORT	
SIMILA	9% 15% 10% 11% INTERNET SOURCES PUBLICATIONS STUDENT PARTY	APERS
PRIMAF	RY SOURCES	
1	devriok.blogspot.com Internet Source	3%
2	eprints.undip.ac.id	2%
3	Submitted to University of Adelaide Student Paper	1%
4	Submitted to Universitas Brawijaya Student Paper	1%
5	Hamzah Tahang, Gunarto Latama, Kasri. "Development strategy and increased production of seaweed in Takalar District", IOP Conference Series: Earth and Environmental Science, 2019 Publication	1%
6	Submitted to SSTC Institute Student Paper	1%
7	www.unuftp.is Internet Source	1%

www.hrpub.org

8

		%
9	jurnal.untad.ac.id Internet Source	1%
10	docobook.com Internet Source	1%
11	Submitted to Universitas Jambi Student Paper	1%
12	fransiscasn.blogspot.com	1%
13	www.lead-journal.org	1%
14	Submitted to Sultan Agung Islamic University Student Paper	1%
15	"Fishes and Forestry", Wiley, 2004 Publication	1%
16	Submitted to University of South Australia Student Paper	<1%
17	mafiadoc.com Internet Source	<1%
18	Melkhianus, Melkhianus, H. Pentury, Happy Nursyam, Nuddin Harahap, and Soemarno Soemarno. "Technical and Financial Feasability	<1%

Analysis of Mangrove (Bruguiera gymnorrhiza)

	Starch Production in West Seram District, Maluku Province", Journal of Food Studies, 2014. Publication	
19	lis Diatin, Ganang Arytra Dwirosyadha. "ANALISIS FINANSIAL PENGGUNAAN LAMPU PETROMAK SEBAGAI PEMANAS PADA BUDIDAYA PEMBENIHAN IKAN PATIN", Jurnal Sosial Ekonomi Kelautan dan Perikanan, 2017 Publication	<1%
20	Submitted to Universitas Pendidikan Indonesia Student Paper	<1%
21	link.springer.com	<1 %
22	repository.its.ac.id	<1%
23	e-journal.upp.ac.id	<1%
24	de.slideshare.net Internet Source	<1%
25	Ivo Andika Hasugian, Evita Dewi, Vandrick. "Engineering Economics Evaluation For Manufacturing Competitiveness : A case study.", IOP Conference Series: Materials Science and Engineering, 2020	<1%

Publication



"The International Conference on ASEAN 2019", <1% Walter de Gruyter GmbH, 2019

Publication

Exclude quotes	Off	Exclude matches	Off
Exclude bibliography	Off		

Cost and Benefit Analysis Of Established Marine Conservation

GRADEMARK REPORT	
FINAL GRADE	GENERAL COMMENTS
/0	Instructor
PAGE 1	
PAGE 2	
PAGE 3	
PAGE 4	
PAGE 5	
PAGE 6	
PAGE 7	
PAGE 8	

LEMBAR
HASIL PENILAIAN SEJAWAT SEBIDANG ATAU PEER REVIEW
KARYA ILMIAH : PROSIDING *

Judul Karya Ilmiah (paper)	:	Cost and Benefit Analysis Of Established Marine Conservation			
Jumlah Penulis	:	3 Orang (Evi Gravitiani, B. Rosalina EWK, Agustyarum PB)			
Status Pengusul	:	nulis pertama / penulis ke / penulis korespondasi**			
Identitas Prosiding	:	a. Nama Prosiding : International Conference on Climate Change 2016			
		b. ISBN/ISSN : -			
		c. Tahun Terbit, Tempat : Solo, 30 Nov - 1 Des 2016			
		Pelaksanaan			
		d. Penerbit/organiser : Ikatan Ahli Lingkungan Hidup Indonesia			
		e. Alamat repository PT/web : <u>https://jurnal.fp.uns.ac.id/index.php/iccc/article/view/5</u> prosiding	54		
		f. Terindeks di (jika ada) :			
Kategori Publikasi Makalah		: Prosiding Forum Ilmiah Internasional			
(beri [*] pada kategori yang tepa	t)	Prosiding Forum Ilmiah Nasional			
Hasil Penilaian Peer Review					

		Nilai Maksimal	Nilai Akhir			
	Komponen Yang Dinilai	Internasional	Nasional	Yang Diperoleh		
a.	Kelengkapan unsur isi paper (10%)	1.5		1.5		
b.	Ruang lingkup dan kedalaman pembahasan (30%)	4.5		4.5		
c.	Kecukupan dan kemutahiran data/informasi dan metodologi (30%)	4.5		4.5		
d.	Kelengkapan unsur dan kualitas terbitan/prosiding (30%)	4.5		3.5		
	Total = (100%)	15		14		
Nilai Pengusul = 60% x 14 = 8.4 (Penulis Pertama)						

Catatan Penilaian artikel oleh Reviewer :

a. Kelengkapan dan kesesuaian unsur isi artikel :

Artikel ini ditulis dengan format yang sudah mengikuti guidelines dari panitia yaitu introduction, method and data analysis, result and conclusion. Isi artikel sesuai dengan judul dan materi yang dibahas

b. Ruang lingkup dan kedalaman pembahasan :

Tema cost benefit sudah banyak diteliti, namun yang mengkhususkan pada marine conservation masih sangat sedikit, sehingga penelitian ini bisa memberikan warna dan ada keterbaruan di materinya.

c. Kecukupan dan pemutakhiran data/informasi dan metodologi :

Alat analisis yang digunakan dalam penelitian ini simple dan sudah sering digunakan sehingga tidak ada keterbaruan. Data diperoleh dari sekunder dan primer

d. Kelengkapan unsur dan kualitas terbitan :

Proceeding tidak memiliki ISBN sehingga, meski kualitasnya bagus, namun kelengkapn unsurnya tidak ada

e. Indikasi Plagiat :

Hasil turn it in adalah 19% artinya tidak terdapat indikasi plagiarism dalam tulisan ini

f. Kesesuaian bidang ilmu :

Materi paper adalajh tentang kelayakan yang ditunjukkan dengan cost benefit sehingga sesuai dengan Ekonomi Pembangunan

Surakarta, 9 Pesember 2020

Dr. Izza Mafruhah, SE, M.Si NIP 197203232002122001 : Lektor Kepala Jabatan Pangkat,Gol Ruang : IV/b Unit Kerja : FEB Bidang Ilmu : Ekonomi Pembangunan

*Dinilai oleh dua Reviewer secara terpisah **Coret yang tidak perlu

LEMBAR	
HASIL PENILAIAN SEJAWAT SEBIDANG ATAU PEER P	REVIEW
KARYA ILMIAH : PROSIDING *	

Judul Karya Ilmiah (paper)	Ċ	Cost and Benefit Analysis Of Established Marine Conservation						
Jumlah Penulis	3	3 Orang (Evi Gravitiani, B. Rosalina EWK, Agustyarum PB)						
Status Pengusul	Р	Penulis pertama / penulis ke / penulis korespondasi**						
Identitas Prosiding	а	Nama Prosiding	:	International Conference on Climate Change 2016				
	b	. ISBN/ISSN	:	-				
	с	Tahun Terbit, Tempat	:	Solo, 30 Nov - 1 Des 2016				
		Pelaksanaan						
	d	Penerbit/organiser	:	Ikatan Ahli Lingkungan Hidup Indonesia				
	e.	Alamat repository PT/web prosiding	:	https://jurnal.fp.uns.ac.id/index.php/iccc/article/view/554				
	f.	Terindeks di (jika ada)	:					
Kategori Publikasi Makalah	:	Prosiding Forum Ilmiah Inte	rnaci	onal				
(beri * pada kategori yang tepat)		Prosiding Forum Ilmiah Nasional						
Hasil Penilaian Peer Review :								

		Nilai Maksimal	Nilai Akhir		
	Komponen Yang Dinilai		Nasional	Yang Diperoleh	
a.	Kelengkapan unsur isi paper (10%)	1.5		1	
b.	Ruang lingkup dan kedalaman pembahasan (30%)	4.5		1	
c.	Kecukupan dan kemutahiran data/informasi dan metodologi (30%)	4.5		4	
d.	Kelengkapan unsur dan kualitas terbitan/prosiding (30%)	4.5		3	
	Total = (100%)	15		12	
Nilai Pengusul = 60% x 12. = 7.2 (Penulis Pertama)					

Catatan Penilaian artikel oleh Reviewer :

a. Kelengkapan dan kesesuaian unsur isi artikel: Artikel ini sudah sesuai dengan aturan standar penulisan ilmiah dalam International Conference on Climate Change 2016 (abstract, introduction, literature review, research method, result, discussion, and conclusion) (skor=1)

- b.Ruang lingkup dan kedalaman pembahasan: Studi ini bertujuan untuk menganalisi pelestarian keanekaragaman hayati di Lautan di sekitar Lamongan Jawa Timur dengan menggunakan analisis benefit and cost (BC). Hasil penelitian ini menunjukkan bahwa manfaat lebih besar dari pada biaya. yang diharapkan akan membantu pelestarian keanekaragaman hayatai di tempat itu. (skor=4)
- c. Kecukupan dan pemutakhiran data/informasi dan metodologi : Data yang dipergunakan dalam penelitian ini cukup mendalam yakni data kuantitatif dan kualitatif yang diestimasi dengan metode Benefit and Cost (BC). (skor =4)
- d.Kelengkapan unsur dan kualitas terbitan : Konferensi yang diikuti cukup berkualitas yang dilaksanakan setiap tahun dilakukan oleh IOP (skor=3)
- e. Indikasi plagiat: Berdasarkan tes semiliritas hanya sebesar 19%, maka dapat diinyatakan tidak ada indikasi plagiat.
- f. Kesesuaian bidang ilmu: Sangat sesuai bidang ekonomi terutama dalam bidang ekonomi pembangunan

Sı akarta. 0 4 DEC. 2020 Lukman Hakim.,SE.,M.Si.,Ph.D

NIP196805182003121002Jabatan: LektPangkat,Gol Ruang: PemUnit Kerja: FakuBidang Ilmu: Ekon

: Lektor Kepala : Pembina / IV/a : Fakultas Ekonomi dan Bisnis : Ekonomi Pembangunan

*Dinilai oleh dua Reviewer secara terpisah **Coret yang tidak perlu